


Lab quality results proven by clinical trials

Parameters N Slope Intercept R2

AMY (U/L) 46 0.8895 -6.7340 0.9786

GGT (U/L) 51 0.9243 7.7293 0.9982

ALT (U/L) 52 1.0421 15.3492 0.9796

AST (U/L) 52 1.2262 2.1751 0.9829

CHOL (mg/dL) 49 0.9636 -8.9002 0.9831

BUN (mg/dL) 51 1.0356 -1.4373 0.9932

TBIL (mg/dL) 52 0.8541 0.1509 0.9851

CREA (mg/dL) 52 1.1900 -0.0756 0.9937

y = 1.0421x + 15.349
R² = 0.9595
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Lab quality results proven by clinical trials

Parameters N Slope Intercept R2

BUN (mg/dL) 20 0.9949 -0.7694 0.9989

CHOL (mg/dL) 20 0.8951 0.2758 0.9895

AST (U/L) 20 0.6941 15.2989 0.9829

GLU (mg/dL) 20 0.9801 -0.0902 0.9889

ALT (U/L) 20 0.8479 16.8203 0.9447

TBIL (mg/dL) 20 0.8106 0.6546 0.9932

GGT (U/L) 20 0.8954 7.1205 0.9992

CREA (mg/dL) 20 0.9980 13.0143 0.9074

y = 0.9949x - 0.7694
R² = 0.9978
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Lab quality results proven by clinical trials

Parameters N Slope Intercept R2

GLU (md/dL) 18 0.9508 4.3153 0.9950

GGT (U/L) 18 0.9118 1.3807 0.9895

ALP (U/L) 18 1.2389 8.7865 0.9475

ALT (U/L) 9 1.2077 -1.7505 0.9528

AST (U/L) 10 0.8187 1.1692 0.9843

ALB (md/dL) 18 0.8010 0.9321 0.9246

TBIL (mg/dL) 18 0.8285 0.0747 0.9892

DBIL (md/dL) 5 1.1403 -0.1207 0.9403

y = 0.9118x + 1.3807

R² = 0.9791
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Capillary Blood (PT10) vs Venous Whole Blood (PT10)

Parameters N Slope Intercept R2

GLU (md/dL) 45 0.9038 5.0457 0.9879

GGT (U/L) 43 0.9890 -1.5304 0.9968

ALT (U/L) 44 0.9743 -0.7942 0.9971

AST (U/L) 45 0.9468 -0.7377 0.9707

CREA (md/dL) 45 1.0061 0.0238 0.9395

CHOL (md/dL) 45 0.9792 -1.6817 0.9919

TG (md/dL) 44 1.0540 -10.9280 0.9858

HDL (md/dL) 45 0.9095 4.5292 0.9266

y = 0.9038x + 5.0457

R² = 0.976
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